
FG-CR-FB-1-1261-USA

FG-PI-FB-1-1261-USA

FG-GY-FB-1-1261-USA

FG-GY-FB-1-1264-USA

FG-PI-FB-1-1264-USA

FG-CR-FB-1-1264-USA

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS

D'ASSEMBLAGE / INSTRUCTIVO DE ARMADO





B

F

F

E

C

D

C

G

J

I1

I

H

A

J

J

J

H

G

E

D



(A)

Allen Key M4 X 65mm Allen Key M5 X 70mm

24 units 6 units 8 units

8 units 6 units8 units

HARDWARE

QUINCAILLERRIE / HERRAJE

TOOLS NOT INCLUDED

OUTILS PAS INCLUS / HERRAMIENTAS NO INCLUIDAS

4 units 1 unit 1 unit

(B) (C)

(D) (E) (F)

(G) (H) (I)

JCBB  Screw M8 X 20 JCBC  Screw M6 X 30 JCBC  Screw M6 X 50

CSK Screw M4 X 32mm Spring Washer M6 Flat Washer M6

JCBB  Screw M8 X 60

• Hardware quantity may supplied more than it required. Please keep spares and tools for future use.

• La cantidad de hardware puede suministrarse más de lo requerido. Guarde los repuestos y las

        herramientas para uso futuro.

• La quantité de matériel peut fournir plus que nécessaire. Veuillez conserver les pièces de rechange et

        les outils pour une utilisation future



STEP 1

STEP 2

BACK VIEW

Attention: Zip the black non-woven fabric after taking out the parts !!

A

H

I

F

F

B F



C x 6 H x 6

E

E

E
E

STEP 3

1020mm 1095mm

A

Option 1 Option 2



STEP 4

B x 8

STEP 5
I x 8

A

A x 8

D

C

G

D

C

G

*DO NOT TIGHTEN

G

D

B



STEP 6

A

B

D

C

D

C

D x 4

STEP 7

J

I1

H

I

J

H

I1



STEP 8
G x 24

*TIGHTEN THE SCREW



This unit has been designed to support the maximum loads shown. Exceeding these load limits could
cause sagging, instability, product collapse, and/or serious injury.

Ce meuble a été conç pour supporter les charges maximales indiquées. En excédant ces limites de
charge, le meuble pourrait devenir instable, s'effondrer, et/ou causer des blessures graves.

Esta unidad ha sido diseñada para soportar la carga máxima anotada. El exceder estos límites puede
causar inestabilidad, colapsarse y/o causar serias lesiones.

MAXIMUM LOADS

CHARGES MAXIMALES / CARGA MAXIMA

552 lbs

250 kg


